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9.6)
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a



2.5   

U6 2.5

y = ‒
a)
b)

b)
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x



3.1

x y = a a

2

1
1. a : b = c : d
2. ad = bc
3.

1 2

y x a b c d

a : b = c : d, ad = bc.

2 x = 6
y

3 y = 36 x
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U6 3.1

x y 2 x = 6 y

a b = c d, ad = bc.

1
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, 3 2 1 1
1 2 y x

1 2
5 3.6

2
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3.2

x% y y x
90

d

a) 125 80 b) 750
450

a) 150 60

90
b) 16 cm 40

40
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U6 3.2

x y
y x

90

a) 90
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2
1 2

2

90
40

80 120



3.3

a b c) 
1 4 1 2 a 2

454 d b 7.58 1000 2000

1.

a) b) 

v2

c) c) 

m3

2. 

a b c) 

a) 36
600

b) 1

10 100 1 36



3.3   

U6 3.3

a) b) c) 

a) b) c) 
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2. a 2

1 36,000 60 36,000 60 = 600 600

600 600 60 = 1 36,000 1 36 km
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VAT
13 VAT 113

2
50 50

3. 2 20 3 40
50 2 40 3 30

4. 1 1

12 5

g

3.4 

1. VAT 13 VAT 90.40
80

2. 2
18 14 25

100

5. 100

( )

28
6. 20

50 1.50 1.50
1.00 0.40

1 60 1 60 1
1,000

100
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80

4. 

1 100,000 3,600

28

6. 

0.40



3.5

2 600
1 75

(x)
1 y

xy

(x)
1 y

2 3 1 2 4

1

1. ab = cd
2.

(x)
1 y

a) 1 50
24

b) 1 30
40

c) 60
20
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U6 3.5

2 600
1 75

xy
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5 3.6
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(x)
1 y


